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 Grade-11 Math SL      Substitution work 24/08/2010

    Subject Teacher: Anilkumar                                                6th Period
Name of the student:                                                                  

Note: Solve the following questions in the work sheet and attach the worksheet in the notebook.
1.
Find the sum of the arithmetic series

17 + 27 + 37 +...+ 417.

	Working:
	

	
	Answers:

…………………………………………..


(Total 4 marks)

2.
An arithmetic series has five terms. The first term is 2 and the last term is 32. Find the sum of the series.

	Working:
	

	
	Answers:

....……………………………………..........


(Total 4 marks)

3.
In an arithmetic sequence, the first term is 5 and the fourth term is 40. Find the second term.

	Working:
	

	
	Answers:

....……………………………………..........


(Total 4 marks)

4.
Find the sum of the infinite geometric series
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	Working:
	

	
	Answers:

....……………………………………..........


(Total 4 marks)

5.
Find the sum of the positive terms of the arithmetic sequence 85, 78, 71, ....

	Working:
	

	
	Answers:

....……………………………………..........


(Total 3 marks)

6.
The first three terms of an arithmetic sequence are 7, 9.5, 12.

(a)
What is the 41st term of the sequence?

(b)
What is the sum of the first 101 terms of the sequence?

	Working:
	

	
	Answers:

(a)
…………………………………………..

(b)
..................................................................


(Total 4 marks)

7.
In an arithmetic sequence, the first term is –2, the fourth term is 16, and the nth term is 11 998.

(a)
Find the common difference d.

(b)
Find the value of n.

	Working:
	

	
	Answers:

(a)
…………………………………………..

(b)
..................................................................


(Total 6 marks)

8.
Consider the arithmetic series 2 + 5 + 8 +....

(a)
Find an expression for Sn, the sum of the first n terms.

(b)
Find the value of n for which Sn = 1365.

	Working:
	

	
	Answers:

(a)
…………………………………………..

(b)
..................................................................


(Total 6 marks)

9.
The first four terms of an arithmetic sequence are 2, a – b, 2a +b + 7, and a – 3b, where a and b are constants. Find a and b.

	Working:
	

	
	Answers:

…………………………………………..


(Total 6 marks)

20010-11/Yr –11 Math SL / Substitution work

Page 5 of 5

